Factoring Trinomials
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Lessonw 8-5  Factoving Trinomialy : ¥ + b+ ¢

Factoring x + bx + ¢ : To factor quadratic trinomiais of the form x2 + bx + ¢, find two
. mand n, whose sum is equal to b and whose product is equal to ¢.
Then write x2 + bx + cusing the pattern (__ X+t ) X+ ).

b is Negative and c is Positive

A, x2-12x+27 v . :
Factors of 27 | Sum of Factors The “b” term is negative and
(% - 37(%-‘3) 1, a1 a8 the “¢” term is positive, so
3 q (2. both factors have to be

~3,-4 -1Z —negative.

b is Positive and c is Negative

ink multply Yo
get 18 and s
" 0 135-} 3
B. X% +3x-18 (Since b is positive and Factors of ~18 | Sum of Factors
(x.+ (Dj(x,_.sj ¢ is negative, then one =1, 1% | 1
factor must be positive "2, 4 [
and the other factor ~3, b 3

must be negative.)

8-5 Factoring Trinomials 2



Lesson 8-5
Practice:
Factor each trinomial.

1. X2+ 3x+ 2

(X +2)x+1)

2. X% -10x + 16

(-2 -

3. X2+ 4x-5

(x+ 3~

4. X2 + 11x +24
(% + )X+ B)

S. 72 + 27a + @2

Pewrie o+t 12
(a+4)(a+®)
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Factors of 2 | Sum of Factors

|,;‘Liz
|

Factors of e | sum of Factors

1, 1, 7
a, 8 10

Factors of =9 | Sum of Factors

5, -1 ‘ H

Factors of &4 | Sum of Factors

Factoring Trinomialy : ¥ + b+ ¢

i

1, a4 a5
a, 12 14
318 ]1

Factors of '79-4 Sum of Factors

N, 1% 13
&, db 38
3, Y an
Y, 18 22




Lesson 8-5  Factoring Trinomialy: ¥ + b+ ©

b is Negative and c is Negative

C. %2 —x =20 (Since ¢ is negative _Factors of 20 | Sum of Factors
' -ao, \ - =14
(x~ 57(7(,-!-10 then one factor must be ~lo, & -8
positive and the other - 5]:.} |

factor must be negative.
Since b is negative,
then the larger factor is

negative.)

Solve and Equation by Factoring _A] u:)%é \NPH’E in 6‘1'&1"\0{4"& %!\J

D.  Solvex?+2x=15 Ar+6y7C =0
-5 ~I5
X2+ % =15 =0 Rewrite equation so that it equals zero.
('}f,- - 5‘)( X + 5)='-D Factor Factors of ~I9 | Sum of Factors
-1, 15 14
H
- — + = -
X-3 =0 oR_X +5 =o 3 5 2,
+3 «3 -5 -5
X =3 x__=-=5
The solution is Eé. "51§.
E. Solve x2-20 = x
% =%
X*—%-20=D Rewrite equation so that it equals zero.

(_X. - 57 (x +")r) =0 Factor

-2 =0 OR x +4 =g
+ 5+ Y

—

L= 5 Y, =~y The solution is ?.5,“"’%

/'121)77" @beck, b paﬁfﬂ Nhe orrginal. in luz]. GTZ?,DA arsl
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Lesson 8-5  Factoring Trinomialy: ¥ + bx+ ¢

Practice:
Factor completely Facfor_s §f5 35 Sum 5; Factors
5. p?-2p-35 5, -1 -2
(p+3)p-T)
Solve each equation.
6. Solve 2+ 7x+6=0
(x + ‘w (){ i l") =0 Factor Factors of {p | Sum of Factors
X+l =0 oR__Xt+b =0 Lol T
ol ~b -b
X =-l X ==l

The solution is E - | ) ‘lo g |

7. Solve y2 + 9 = -10y

Hoy Yloy
2+10y+4=0 Rewrite
C:Jr +Qj (\}1 + D =D Factor Factors of <] | Sum of Factors
N+9 =0 or N+l =0 ) 4 0
-9 -4 -1 -

N = -4

Tf:e solution is i—q —lz \f

NThese are the Soluhons the X-trﬂ'wfs\'s
the Z.eros, anAWRODtS

5
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